A spring is attached to a wall. A 2.0 kg block is pressed
against the spring. Determine the acceleration of the block

immediately after it is released.
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A spring is attached to a wall. When a 5 kg block is placed
on the slope, the block remains at rest in the position
shown. Determine the spring constant of the spring.
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A spring has a length of 30 cm
when a 6 kg object hangs from
the bottom. When a 10 kg object 30 cm
hangs from the spring, it has a
length of 36 cm. Determine the Lk N
; - 3
spring constant and the length in 0 k
equilibrium. J
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A spring is attached to a wall. A 2.0 kg block is pressed
against the spring. Determine the acceleration of the block
immediately after it is released.

. 20 cm . , IO em :
k=3oo%
VWAL
rA=O.6D
TT-L
e— > Fe

I:"_F Fne"’"‘o\
E' Ff_ =mMma

'F;
(B tophumne

kAX.-(U\Mﬂ = mMa

_ kax - f‘”“i
) m

o

306(02-04) - (0.60)(2-0)(1.%)
2.0

.12 S. RIGHT




A spring is attached to a wall. When a 5 kg block is placed
on the slope, the block remains at rest in the position
shown. Determine the spring constant o hFQ spring.
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A spring has a length of 30 cm
when a 6 kg object hangs from

the bottom. When a 10 kg object 30 cm 36 cm
hangs from the spring, it has a {
length of 36 cm. Determine the 6 kq L
spring constant and the length in IO kq
equilibrium.
('} [-'-'s
Fs=Fq Fs=Fq
| kax=mo kax=mg
k(t-2)=m k(t-2)=m
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k(o.zo)-km°=63 k(o26)-kx =107
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0.06k = '+3
k- ko= mg k=|e53%,
= x - 3
Xo = %"
(6)(1.8)
= - =l6.210
0.30 .53 0.210 m




